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Question 1
Question Type: MultipleChoice

What is a consideration when choosing between vSphere Encryption and vSAN Encryption?

Options: 
A- vSphere Encryption applies to the entire vSAN datastore vSAN Encryption is on a per VM basis

B- vSphere Encryption does not support deduplication and compression vSAN Encryption allows deduplication and compression

C- vSphere Encryption addresses fears of media theft vSAN Encryption addresses fears of a rogue admin

D- vSphere Encryption is for data-at-rest vSAN Encryption is for data-in-flight

Answer: 
D

Question 2
Question Type: MultipleChoice



An environment has two VxRail clusters with the following hardware configuration:

* Cluster-A is using FTT = 2 and FTM = Erasure Coding

* Cluster-B is using FTT = 2 and FTM = Mirroring

A 100 GB VM is planned to be vMotioned from Cluster-A to Cluster-B

How much more vSAN capacity is consumed in Cluster-B than in Cluster-A?

Options: 
A- 0 GB: consumption is unchanged

B- 100 GB

C- 150 GB

D- 167 GB

Answer: 
C

Question 3



Question Type: MultipleChoice

A VxRail has been configured with the VxRail-deployed vCenter Server option Which service VMs can be optionally hosted on the

VxRail cluster?

Options: 
A- VxRail Manager vCenter Server and Platform Services Controller

B- VxRail Manager and Secure Remote Servtces/VE

C- vCenter Server. Platform Services Controller, and Secure Remote Services/VE

D- vRealize Log Insight and Secure Remote ServicesA/E

Answer: 
D

Question 4
Question Type: MultipleChoice



AVxRail administrator needs to add storage capacity to a 4-nodeVxRail E Series cluster Each node currently has one cache and four

capacity disks What does the administrator need to order, per node, to fully populate the available disk slots?

Options: 
A- 1 cache and 5 capacity disks

B- 5 capacity disks

C- 1 cache and 4 capacity disks

D- 1 capacity disk

Answer: 
C

Question 5
Question Type: MultipleChoice

A user has three G Series nodes in a VxRail cluster They are planning to add five additional G Series nodes How much additional rack

space is required to accommodate the new nodes?



Options: 
A- 1U

B- 2U

C- 5U

D- 10U

Answer: 
B

Question 6
Question Type: MultipleChoice

Which VxRail model series supports only hybrid disks?

Options: 
A- S Series



B- P Series

C- E Series

D- G series

Answer: 
D

Question 7
Question Type: MultipleChoice

You are planning to install CloudArray Virtual Edition Where should you navigate to in VxRail Manager?

Options: 
A- Config > System

B- Config > General

C- Support > Download

D- Config > Market



Answer: 
D

Question 8
Question Type: MultipleChoice

What is the minimum number of nodes needed for self-healing after a failure with a vSAN storage policy of FTT = 1 and FTM = Mirroring?

Options: 
A- 3

B- 4

C- 5

D- 6

Answer: 
B



Question 9
Question Type: MultipleChoice

When using a vSAN storage policy with FTT = 1 and FTM = Mirroring, how many witness components exist for a VMDK?

Options: 
A- 0

B- 1

C- 2

D- 3

Answer: 
B

Question 10
Question Type: MultipleChoice



What are the vSAN storage policy settings applied to the VxRail Manager VM during initial setup*?

Options: 
A- Primary level of failures to tolerate = 1 Failure tolerance method = Erasure coding Object space reservation (%) = 100

B- Primary level of failures to tolerate = 1 Object space reservation (%) = 100

C- Primary level of failures to tolerate = 1 Failure tolerance method = Mirroring Object space reservation (%) = 50

D- Primary level of failures to tolerate = 2 Failure tolerance method = Mirroring

Answer: 
B

Question 11
Question Type: MultipleChoice

AVxRail administrator has been informed by Dell EMC that an Internet software upgrade is available for their VxRail cluster The

administrator logs into VxRail Manager VxRail Manager shows only the Local Upgrade option and not the Internet Upgrade option.

What is a possible reason?



Options: 
A- The VxRail Manager user has insufficient privileges

B- Workstation accessing VxRail Manager does not have Internet connectivity

C- Secure Remote Services has not been enabled

D- VxRail Manager VM does not have Internet connectivity

Answer: 
D

Question 12
Question Type: MultipleChoice

There is a request to add two new disks to an existing VM residing on a VxRail vSAN that you manage One disk is 250 GB and the other

is 500 GB The VM is using the vSAN default storage policy.

How many vSAN objects will be created?



Options: 
A- 2

B- 3

C- 6

D- 9

Answer: 
D
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